Name: Kr—:\!/
Percent Composition

1. Find the % composition of H20 = 18.0%/0]
AH= 1603 X002 = |1 2

7 0= —léé-j‘ x{eo’, = 88.97
2. Find the % %ﬁmposmon of FeSO: = {§1-7 Yt

55.8 _
% Fo= —EI—% oo, = 36.7%

7 0= ——-—i’: ?gxroo; = 42,(2,

- 32
y3S %cfx!oo% = 2110

3. Find the % composition of C:HsOH = #£.0g fyaof
AC > —%‘—% x}ooj = 5222
7 0= USZ xfooR = 245’2

AH= 225 xpoon = 132 "%
Vg
4. Find the % composition of (NH):POs = | 49.034..1
42.0
2 N= ﬂ'ﬁ%lw% 8:179 2? _._';‘-9-9-)qao) = 70.8 7
o H =28 y007, = 8.05 2
H 1.0 {o 20 W—-—ix/ooz 4302

5. Find the % composition of water in CaSO4#2H0 = 72, 2%si

= 3694 *x
?0 HO !7ZZj 1007" 20l??0

6. Analysis of a compound shows that it consists of 352g of Cu and 48g of
oxygen. What is the % composition of the compound? 3524+ Y84 = H400g

2Cu= %wm = 88.0 2

0= %’; xjooy. = 127

7. If you had 126.9g of H2COs, what mass would be due to hydrogen? What mass
would be due to carbon? Oxygen? H,(0, = 67 .0%1

A= 6’10 —Hxwon = 3.2% 0.03%26 x126.45 = 4. (3 due 1o ;,70(,\,3%
% C = _um joote = (.49 -11355%12695 = 246y due Fo carborn

%O = Ei%mz =170, 0714 x126% = 18.24 duedo orppn



